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Surface: Velocity magnitude (m/s)
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dv
p(-é—t-+v-Vv =-Vp+V-T+f

ingle-phase flows at high Reynolds§

| 4 7 Turbulent Flow numbers. The physics interface is suitable for incompressible flows, and compressible
=L Turbulent Flow, Algebraic yPlus (spf) flows at low Mach number (typically less than 0.3).
=1 Turbulent Flow, L-VEL (spf) :
“2 Turbulent Flow, k- (spf) p(u . V)u = interface are the Navier-Stokes equations

ty equation for conservation of mass.

V- ['Pl + (,u + ,UT)(VU + (VU)T)] +F ird two-equation k-£ model with

deled using wall functions.
pv ’ (u) =0 r stationary and time-dependent anahysis.







OF

4 s

4 = Materials
LsE Air (matl)

Label: Point 1

¥ Point

120.1]

10.1
20.1




A1 ()

¥ Size and Shape v Size and Shape v Size and Shape
‘Width: 600 Width: 600 Width: 600
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Height: 20 Height: 30 Height: 40

‘ Vemcity magnitude [mfs}, p(VEIDCiW magnitude [me], Point: Velncity magnitude [mfs}, Point: 137
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¥ Size and Shape ¥ Size and Shape ¥ Size and Shape
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Velocity magnitude (m/s), Point: 137 Velocity magnitude (m/s), | Velocity magnitude (m/s), Point: 137
35.008 34437 36.972
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Velocity magnitude (m/s), Point. Velocity magnitude (m/s), Point: 137
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Contour: Pressure (Pa) Arrow Surface: Welocity field
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